# On oscillations of neutral equations with mixed arguments 

G. Ladas and S. W. Schults<br>(Received March 7, 1988)<br>(Revised June 13, 1988)

## 1. Introduction and preliminaries

Consider the neutral differential equation

$$
\begin{equation*}
\frac{d}{d t}[y(t)+p y(t-\tau)]+q y(t-\sigma)=0 \tag{1}
\end{equation*}
$$

where $p, \tau, q$ and $\sigma$ are real numbers. The main results in this paper are the following:

Theorem 1. The following statements are equivalent:
(a) Every bounded solution of Eq. (1) oscillates.
(b) The characteristic equation associated with Eq. (1)

$$
\begin{equation*}
F(\lambda)=\lambda+\lambda p e^{-\lambda \tau}+q e^{-\lambda \sigma}=0 \tag{2}
\end{equation*}
$$

has no roots in $(-\infty, 0]$.

Theorem 2. The following statements are equivalent:
(a) Every unbounded solution of Eq. (1) oscillates.
(b) The characteristic equation (2) associated with Eq. (1) has no roots in $(0, \infty)$ and 0 is not a double root of Eq. (2).

An immediate corollary of the above theorems is the following result which was proved in [3].

Corollary Every solution of Eq. (1) oscillates if and only if its characteristic equation (2) has no real roots.

As is customary a solution of Eq. (1) is called oscillatory if it has arbitrarily large zeros. Otherwise it is called nonoscillatory.

In the sequel all functional inequalities that we write are assumed to hold eventually, that is for sufficiently large $t$.

We now list some preliminary results which will be useful in our study of Eq. (1).

The first result we will make use of is extracted from [5].

Lemma 1. Let $r$ and $\mu$ be positive constants. Assume that $x(t)$ is a positive solution of the inequality

$$
\dot{x}(t)+r x(t-\mu) \leq 0
$$

and $y(t)$ is a positive solution of the inequality

$$
\dot{y}(t)-r y(t+\mu) \geq 0 .
$$

Then

$$
x(t-\mu) \leq \frac{4}{(r \mu)^{2}} x(t)
$$

and

$$
y(t+\mu) \leq \frac{4}{(r \mu)^{2}} y(t)
$$

For a proof of the next lemma see [4].

Lemma 2. Let $y(t)$ be a solution of Eq. (1) for $t \geq t_{0}$ and let $\alpha$ and $\beta$ be any constants. Then

$$
x(t)=\int_{t-\alpha}^{t-\beta} y(s) d s
$$

is also a solution for $t \geq t_{0}+\max \{\alpha, \beta\}$.
The next result deals with the characteristic equation (2).
Lemma 3. Assume the characteristic equation (2) has no roots in $(-\infty, 0]$. Then there exists $m>0$ such that for all $\lambda \geq 0$

$$
\lambda+\lambda p e^{\lambda \tau}-q e^{\lambda \sigma} \leq-m \quad \text { if } \quad q>0
$$

while

$$
-\lambda-\lambda p e^{\lambda \tau}+q e^{\lambda \sigma} \leq-m \quad \text { if } \quad q<0
$$

Also, if (2) has no roots in $(0, \infty)$, there exists $m>0$ such that for all $\lambda \geq 0$

$$
-\lambda-\lambda p e^{-\lambda \tau}-q e^{-\lambda \sigma} \leq-m \quad \text { if } \quad q>0
$$

while

$$
\lambda+\lambda p e^{-\lambda \tau}+q e^{-\lambda \sigma} \leq-m \quad \text { if } \quad q<0 .
$$

The next lemma, which follows from [1], shows that if Eq. (1) has a nonoscillatory solution then it also has a nonoscillatory solution with "nice" properties which are useful in the study of Eq. (1).

Lemma 4. Assume $q \neq 0$ and let $y(t)$ be an eventually positive solution of Eq. (1). Define $z(t)=y(t)+p y(t-\tau)$ and $w(t)=z(t)+p z(t-\tau)$. Then

$$
w(t)>0, \quad \dot{w}(t)<0, \quad \ddot{w}(t)>0 \quad \text { and } \quad \lim _{t \rightarrow \infty} w(t)=0
$$

if $y(t)$ is bounded, while

$$
w(t)>0, \quad \dot{w}(t)>0, \quad \ddot{w}(t)>0 \quad \text { and } \quad \lim _{t \rightarrow \infty} w(t)=\infty
$$

if $y(t)$ is unbounded. Moreover $z(t)$ is a differentiable solution of Eq. (1) and $w(t)$ is a twice differentiable solution of Eq. (1).

For the following see Grammatikopoulos, Sficas and Stavroulakis [2].
Lemma 5. Let $v(t)$ be a positive and continuously differentiable function. Assume that there exists positive numbers $A$ and $\alpha$ such that either

$$
\begin{equation*}
v(t-\alpha)<A v(t) \tag{3}
\end{equation*}
$$

or

$$
\begin{equation*}
v(t+\alpha)<A v(t) \tag{4}
\end{equation*}
$$

Set

$$
\Lambda=\{\lambda \geq 0: \dot{v}(t)+\lambda v(t) \leq 0\} \quad \text { if (3) holds }
$$

and

$$
\Lambda=\{\lambda \geq 0:-\dot{v}(t)+\lambda v(t) \leq 0\} \quad \text { if (4) holds }
$$

Then $(A>1)$ and

$$
\lambda_{0}=\frac{\ln A}{\alpha} \notin \Lambda .
$$

Proof. We will prove the lemma when (3) holds. The case when (4) holds is similar and will be omitted. Assume that (3) holds and, for the sake of contradiction, assume that $\lambda_{0} \in \Lambda$. Then

$$
\frac{d}{d t}\left[e^{\lambda_{0} t} v(t)\right]=e^{\lambda_{0} t}\left[\dot{v}(t)+\lambda_{0} v(t)\right] \leq 0
$$

which implies that the function $e^{\lambda_{0} t} v(t)$ is decreasing. Hence

$$
e^{\lambda_{0}(t-\alpha)} v(t-\alpha) \geq e^{\lambda_{0} t} v(t)
$$

or

$$
v(t-\alpha) \geq e^{\lambda_{0} \alpha} v(t)=e^{\ln A} v(t)=A v(t)
$$

which contradicts (3) and completes the proof of the lemma.
The following "Duality Lemma" from [1] will enable us to reduce the required number of cases we have to consider in our proofs of the theorems.
(Duality) Lemma. Suppose that $p$ is a nonzero real number. Then $y(t)$ is a solution of Eq. (1) if and only if $y(t)$ is a solution of

$$
\frac{d}{d t}\left[y(t)+\frac{1}{p} y(t-(-\tau)]+\frac{q}{p} y(t-(\sigma-\tau))=0\right.
$$

## 2. Proof of Theorem 1

Proof. (a) $\Rightarrow$ (b). If it is false the characteristic equation (2) would have a root $\lambda_{0} \in(-\infty, 0]$ and therefore Eq. (1) would have the nonoscillatory bounded solution

$$
y(t)=e^{\lambda_{0} t} .
$$

But this contradicts the hypothesis that every bounded solution of Eq. (1) oscillates.
(b) $\Rightarrow$ (a). Assume, for the sake of contradiction, that Eq. (1) has a bounded eventually positive solution $y(t)$. First assume $p=0$. Then (1) and (2) reduce to

$$
\begin{equation*}
\dot{y}(t)+q y(t-\sigma)=0 \tag{5}
\end{equation*}
$$

and

$$
\begin{equation*}
\lambda+q e^{-\lambda \sigma}=0 \tag{6}
\end{equation*}
$$

As (6) has no real roots in $(-\infty, 0]$ it follows that $q \neq 0$ and when $q>0$ then $\sigma \neq 0$. Hence we have the following cases to consider:
(i) $q>0$ and $\sigma>0$
(ii) $q>0$ and $\sigma<0$
(iii) $q<0$.

Case (i): $q>0$ and $\sigma>0$. Define

$$
\Lambda=\{\lambda \geq 0: \dot{y}(t)+\lambda y(t) \leq 0\}
$$

Clearly $0 \in \Lambda$ and so $\Lambda$ is a nonempty interval. We will show that $\Lambda$ has the following contradictory properties.
$\left(\mathrm{P}_{1}\right) \quad$ There exist positive numbers $\lambda_{1}$ and $\lambda_{2}$ such that $\lambda_{1} \in \Lambda$ and $\lambda_{2} \notin \Lambda$.
$\left(\mathrm{P}_{2}\right) \quad \lambda \in \Lambda \Rightarrow \lambda+m \in \Lambda$ where $m$ is as defined in Lemma 3.
Observe that $\dot{y}(t)+q y(t) \leq 0$ which implies that $\lambda_{1}=q \in \Lambda$. Applying Lemmas 1 and 5 to (5) we obtain

$$
\lambda_{2}=\frac{\ln \frac{4}{(\sigma q)^{2}}}{\sigma} \notin \Lambda .
$$

Let $\lambda \in \Lambda$ and set $\varphi(t)=e^{\lambda t} y(t)$. Then $\dot{\varphi}(t)=e^{\lambda t}[\dot{y}(t)+\lambda y(t)] \leq 0$ which implies $\varphi(t)$ is nonincreasing. Now

$$
\begin{aligned}
\dot{y}(t)+(\lambda+m) y(t) & =-q y(t-\sigma)+(\lambda+m) y(t) \\
& =-q e^{-\lambda(t-\sigma)} \varphi(t-\sigma)+(\lambda+m) e^{-\lambda t} \varphi(t) \\
& \leq e^{-\lambda t} \varphi(t)\left[-q e^{\lambda \sigma}+\lambda+m\right] \leq e^{-\lambda t} \varphi(t)[-m+m]=0
\end{aligned}
$$

which shows $\lambda+m \in \Lambda$.
Case (ii): $q>0$ and $\sigma<0$. We have $F(0)=q>0$ and $F(-\infty)=-\infty$ which implies that the characteristic equation has a root in $(-\infty, 0]$. This is a contradiction.

Case (iii): $q<0$. Here

$$
\dot{y}(t)=-q y(t-\sigma)>0
$$

which implies $\lim _{t \rightarrow \infty} y(t)=\ell \in(0, \infty)$. But then $\lim _{t \rightarrow \infty} \dot{y}(t)=-q \ell>0$ which implies that $\ell=\infty$. This is a contradiction and the proof is complete when $p=0$.

Next, observe that if $\tau=0$ and $p \neq-1$, Eq. (1) reduces to

$$
\begin{equation*}
\dot{y}(t)+\frac{q}{1+p} y(t-\sigma)=0 \tag{7}
\end{equation*}
$$

for which the result has just been established. On the other hand, when $\tau=0$ and $p=-1$ Eqs. (1) and (2) reduce to

$$
\begin{equation*}
q y(t-\sigma)=0 \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
q e^{-\lambda \sigma}=0 \tag{9}
\end{equation*}
$$

respectively. As (9) has no roots in ( $-\infty, 0]$, it follows that $q \neq 0$ and so (8) implies that $y(t) \equiv 0$ which is a contradiction.

Because of the Duality Lemma we may and do assume that $\tau>0$.
For subsequent use, define $z(t)=y(t)+p y(t-\tau)$ and $w(t)=z(t)+p z(t-\tau)$. Then, it follows from Lemma 4 that

$$
w(t)>0, \quad \dot{w}(t)<0, \quad \ddot{w}(t)>0 \quad \text { and } \quad \lim _{t \rightarrow \infty} w(t)=0
$$

Remark 1. By integrating Eq. (1) from $t-\alpha$ to $\infty$ with $y(t)$ replaced by $w(t)$ one sees that

$$
x(t)=\int_{t-\alpha}^{\infty} w(s) d s
$$

is a solution of Eq. (1).
The remaining part of the proof will be accomplished by considering the following eight cases:

|  | $p$ | $q$ | $\tau$ | $\sigma$ |
| :--- | :--- | :--- | :--- | :--- |
| 1. | + | + | + | + |
| 2. | + | + | + | ,- 0 |
| 3. | + | - | + | + |
| 4. | + | - | + | ,- 0 |
| 5. | - | + | + | + |
| 6. | - | + | + | ,- 0 |
| 7. | - | - | + | + |
| 8. | - | - | + | ,- 0 |
|  |  |  |  |  |

Case 1: $p>0, q>0, \tau>0$ and $\sigma>0$. Since $F(-\infty)=+\infty$ it follows that $\sigma>\tau$. Set

$$
w_{n}(t)= \begin{cases}w(t), & n=0  \tag{10}\\ w_{n-1}(t)+p w_{n-1}(t-\tau), & n=1,2, \ldots\end{cases}
$$

It follows from Lemma 4 or from the fact that Eq. (1) is linear and autonomous that $w_{n}(t)$ is a twice differentiable solution of Eq. (1). Then for $n=1,2, \ldots$ we have

$$
\begin{gather*}
\dot{w}_{n}(t)=-q w_{n-1}(t-\sigma)  \tag{11}\\
w_{n}(t)>0, \quad \dot{w}_{n}(t)<0, \quad \ddot{w}_{n}(t)>0 \tag{12}
\end{gather*}
$$

and

$$
\begin{equation*}
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0 . \tag{13}
\end{equation*}
$$

The proof of (11), (12) and (13) is by induction.
Set

$$
\Lambda_{n}=\left\{\lambda \geq 0: \dot{w}_{n}(t)+\lambda w_{n}(t) \leq 0\right\} .
$$

The proof will be accomplished by showing that $\Lambda_{n}$ has the contradictory properties:
$\left(\mathrm{P}_{1}\right)$ There exist positive numbers $\lambda_{1}$ and $\lambda_{2}$ such that $\lambda_{1} \in \Lambda_{n}$ and $\lambda_{2} \notin \Lambda_{n}$ for $n=1,2, \ldots$.
$\left(\mathrm{P}_{2}\right)$ There exists a positive $\mu$, independent of $n$, such that $\lambda \in \Lambda_{n}$ with $\lambda \geq \lambda_{1} \Rightarrow \lambda+\mu \in \Lambda_{n+1}$ for $n=1,2, \ldots$.
First we will prove ( $\mathrm{P}_{1}$ ). From (12) and (13) we have

$$
(1+p) \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma) \leq 0 .
$$

It follow that

$$
\begin{equation*}
\dot{w}_{n}(t)+\frac{q}{1+p} w_{n}(t-(\sigma-\tau)) \leq 0 \tag{14}
\end{equation*}
$$

or

$$
\dot{w}_{n}(t)+\frac{q}{1+p} w_{n}(t) \leq 0 .
$$

Hence

$$
\lambda_{1}=\frac{q}{1+p} \in \bigcap_{n=1}^{\infty} \Lambda_{n}
$$

Applying Lemma 1 to (14) we obtain

$$
w_{n}(t-(\sigma-\tau)) \leq \frac{4(1+p)^{2}}{q^{2}(\sigma-\tau)^{2}} w_{n}(t)
$$

From Lemma 5 we have

$$
\lambda_{2}=\frac{1}{\sigma-\tau} \ln \frac{4(1+p)^{2}}{q^{2}(\sigma-\tau)^{2}} \notin \bigcup_{n=1}^{\infty} \Lambda_{n}
$$

Let $\lambda \in \Lambda_{n}$ and set $\mu=m /\left(1+p e^{\lambda_{2} \tau}\right)$ and $\varphi_{n}(t)=e^{\lambda t} w_{n}(t)$. Then

$$
\dot{\varphi}_{n}(t)=e^{\lambda t}\left[\dot{w}_{n}(t)+\lambda w_{n}(t)\right] \leq 0
$$

which shows $\varphi_{n}$ is a nonincreasing function. Now

$$
\begin{aligned}
\dot{w}_{n+1}(t)+(\lambda+\mu) w_{n+1}(t)= & -q w_{n}(t-\sigma)+(\lambda+\mu)\left[w_{n}(t)+p w_{n}(t-\tau)\right] \\
= & -q \varphi_{n}(t-\sigma) e^{-\lambda(t-\sigma)} \\
& +(\lambda+\mu)\left[\varphi_{n}(t) e^{-\lambda t}+p \varphi_{n}(t-\tau) e^{-\lambda(t-\tau)}\right] \\
\leq & \varphi_{n}(t-\tau) e^{-\lambda t}\left[-q e^{\lambda \sigma}+\lambda+\lambda p e^{\lambda \tau}+\mu+\mu p e^{\lambda_{2} \tau}\right] \\
\leq & \varphi_{n}(t-\tau) e^{-\lambda t}[-m+m]=0 .
\end{aligned}
$$

The proof is complete in this case.
Cases 2 and 8: $p>0, q>0, \tau>0, \sigma \leq 0$ or $p<0, q<0, \tau>0, \sigma \leq 0$. In these cases $F(0) \cdot F(-\infty)<0$ which implies that the characteristic equation has a root in $(-\infty, 0]$.

Cases 3 and 4: $p>0, q<0, \tau>0, \sigma>0$ or $p>0, q<0, \tau>0, \sigma \leq 0$. Here

$$
\dot{z}(t)=-q y(t-\sigma)>0 .
$$

Integrating the above from $t_{0}$ and $t$ and taking the limit as $t \rightarrow \infty$ implies that $y(t) \in L^{1}\left[t_{0}, \infty\right)$ and so $z(t) \in L^{1}\left[t_{0}, \infty\right)$. As $z(t)$ is also a monotonic function it follows that $\lim _{t \rightarrow \infty} z(t)=0$ which is impossible because $z(t)>0$ and increasing.

Case 5: $\quad p<0, q>0, \tau>0$ and $\sigma>0$. Set

$$
w_{n}(t)= \begin{cases}w(t), & n=0  \tag{15}\\ w_{n-1}(t)+p w_{n-1}(t-\tau), & n=1,2, \ldots\end{cases}
$$

Then for $n=1,2, \ldots$ we have

$$
\begin{gather*}
\dot{w}_{n}(t)=-q w_{n-1}(t-\sigma) \\
w_{n}(t)>0, \quad \dot{w}_{n}(t)<0, \quad \ddot{w}(t)>0 \tag{16}
\end{gather*}
$$

and

$$
\begin{equation*}
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0 . \tag{17}
\end{equation*}
$$

Set

$$
\Lambda_{n}=\left\{\lambda \geq 0: \dot{w}_{n}(t)+\lambda w_{n}(t) \leq 0\right\}, \quad n=1,2, \ldots
$$

As in Case 1, the proof will be accomplished by showing that $\Lambda_{n}$ has the contradictory properties $\left(\mathrm{P}_{1}\right)$ and $\left(\mathrm{P}_{2}\right)$.

From (17) we have

$$
\begin{equation*}
\dot{w}_{n}(t)+q w_{n}(t-\sigma)<0 . \tag{18}
\end{equation*}
$$

Hence

$$
\lambda_{1}=q \in \bigcap_{n=1}^{\infty} \Lambda_{n} .
$$

Applying Lemma 1 to (18) yields

$$
w_{n}(t-\sigma) \leq \frac{4}{(q \sigma)^{2}} w_{n}(t) .
$$

It now follows from Lemma 5 that

$$
\lambda_{2}=\frac{1}{\sigma} \ln \frac{4}{(q \sigma)^{2}} \notin \bigcup_{n=1}^{\infty} \Lambda_{n} .
$$

Let $\lambda \in \Lambda_{n}$ and set $\varphi_{n}(t)=e^{\lambda t} w_{n}(t)$ and $\mu=m$. Then

$$
\begin{aligned}
\dot{w}_{n+1}(t)+(\lambda+\mu) w_{n+1}(t)= & -q w_{n}(t-\sigma)+(\lambda+\mu)\left[w_{n}(t)+p w_{n}(t-\tau)\right] \\
= & -q e^{-\lambda(t-\sigma)} \varphi_{n}(t-\sigma) \\
& +(\lambda+\mu)\left[e^{-\lambda t} \varphi_{n}(t)+p e^{-\lambda(t-\tau)} \varphi_{n}(t-\tau)\right] \\
\leq & e^{-\lambda t} \varphi_{n}(t)\left[-q e^{\lambda \sigma}+\lambda+\lambda p e^{\lambda \tau}+\mu+\mu p e^{\lambda \tau}\right] \\
\leq & e^{-\lambda t} \varphi_{n}(t)[-m+\mu]=0 .
\end{aligned}
$$

The proof is complete in this case.
Case 6: $\quad p<0, q>0, \tau>0$ and $\sigma \leq 0$. The dual of Case 6 is

$$
p<0, \quad q<0, \quad \tau<0 \text { and } \sigma<0 \text { with } \sigma<\tau
$$

which we will now consider. As in [3], set
(19) $\quad w_{n}(t)= \begin{cases}w(t), & n=0 \\ -\left[w_{n-1}(t)+p w_{n-1}(t-\tau)\right]-q \int_{t-\tau}^{t-\sigma} w_{n-1}(s) d s, & n=1,2, \ldots\end{cases}$
and define $\Lambda_{n}$ as in Case 5. Then for $n=1,2, \ldots$ we have

$$
\begin{gather*}
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0,  \tag{20}\\
\dot{w}_{n}(t)=q w_{n-1}(t-\tau) \tag{21}
\end{gather*}
$$

and

$$
\begin{equation*}
w_{n}(t)>0, \quad \dot{w}_{n}(t)<0 \quad \text { and } \quad \ddot{w}_{n}(t)>0 . \tag{22}
\end{equation*}
$$

From (20) and (22) we obtain

$$
\begin{equation*}
-\dot{w}_{n}(t)-p \dot{w}_{n}(t-\tau) \leq 0 . \tag{23}
\end{equation*}
$$

Applying (21) to (23) yields

$$
\begin{equation*}
-q w_{n-1}(t-\tau)-p \dot{w}_{n}(t-\tau) \leq 0 \tag{24}
\end{equation*}
$$

Integrating the above from $t+\tau$ to $t$ yields

$$
-q w_{n-1}(t-\tau)(-\tau)-p w_{n}(t-\tau)+p w_{n}(t) \leq 0
$$

from which it follows that

$$
\begin{equation*}
q w_{n-1}(t-\tau) \geq-\frac{p}{\tau} w_{n}(t) \tag{25}
\end{equation*}
$$

Combining (25) with (21) gives

$$
\dot{w}_{n}(t)+\frac{p}{\tau} w_{n}(t) \geq 0
$$

which implies

$$
\lambda_{2}=\frac{p}{\tau} \notin \bigcup_{n=1}^{\infty} \Lambda_{n} .
$$

From (19) we have

$$
\begin{equation*}
w_{n}(t) \leq(-p-q(\tau-\sigma)) w_{n-1}(t-\tau) \tag{26}
\end{equation*}
$$

Applying (26) to (21) yields

$$
\dot{w}_{n}(t)+\frac{-q}{-p-q(\tau-\sigma)} w_{n}(t) \leq 0
$$

which implies

$$
\lambda_{1}=\frac{-q}{-p-q(\tau-\sigma)} \in \bigcap_{n=1}^{\infty} \Lambda_{n}
$$

Let $\lambda \geq \lambda_{1}$ and set $\varphi_{n}(t)=e^{\lambda t} w_{n}(t)$ and

$$
\mu=m\left[-p e^{\lambda_{2} \tau}-\frac{q e^{\lambda_{2} \tau}}{\lambda_{1}}\right]^{-1}
$$

Now

$$
\begin{aligned}
& \dot{w}_{n+1}(t)+(\lambda+\mu) w_{n+1}(t) \\
& \quad=q w_{n}(t-\tau)+(\lambda+\mu)\left[-w_{n}(t)-p w_{n}(t-\tau)-q \int_{t-\tau}^{t-\sigma} w_{n}(s) d s\right] \\
& \quad \leq e^{-\lambda t} \varphi_{n}(t-\tau)\left[q e^{\lambda \tau}-\lambda-\lambda p e^{\lambda \tau}+q e^{\lambda \sigma}-q e^{\lambda \tau}-\mu-\mu p e^{\lambda \tau}+\frac{\mu q}{\lambda}\left(e^{\lambda \sigma}-e^{\lambda \tau}\right)\right] \\
& \quad \leq e^{-\lambda t} \varphi_{n}(t-\tau)\left[-\lambda-\lambda p e^{\lambda \tau}+q e^{\lambda \sigma}+\mu\left(-p e^{\lambda_{2} \tau}-\frac{q e^{\lambda_{2} \tau}}{\lambda_{1}}\right)\right] \\
& \quad \leq e^{-\lambda t} \varphi_{n}(t-\tau)[-m+m]=0 .
\end{aligned}
$$

The proof is complete in this case.
Case 7: $p<0, q<0, \tau>0$ and $\sigma>0$. Here $F(0)=q<0$ and so in order that $F(-\infty)=-\infty$ we must have $\sigma>\tau$.

Let $V$ be the set of all $C^{2}$ solutions of Eq. (1) which satisfy

$$
v(t)>0, \quad \dot{v}(t)<0, \quad \ddot{v}(t)>0 \quad \text { and } \quad \lim _{t \rightarrow \infty} v(t)=0
$$

Set

$$
\Lambda(v)=\{\lambda \geq 0: \dot{v}(t)+\lambda v(t) \leq 0\} .
$$

First we establish that for every $v \in V$ the set $\Lambda(v)$ is nonempty and bounded from above. To this end observe that for $v \in V$

$$
\begin{equation*}
\dot{v}(t)+p \dot{v}(t-\tau)+q v(t-\sigma)=0 . \tag{27}
\end{equation*}
$$

Now (27) implies

$$
p \dot{v}(t-\tau)+q v(t-\sigma) \geq 0,
$$

from which it follows

$$
\begin{equation*}
\dot{v}(t)+\frac{q}{p} v(t-(\sigma-\tau)) \leq 0 . \tag{28}
\end{equation*}
$$

From (28) we have

$$
\dot{v}(t)+\frac{q}{p} v(t) \leq 0 .
$$

Hence

$$
\frac{q}{p} \in \bigcap_{v \in V} \Lambda(v)
$$

Applying Lemma 1 to (28) yields

$$
v(t-(\sigma-\tau)) \leq B v(t)
$$

where $B \equiv 4 p^{2} /\left[(\sigma-\tau)^{2} q^{2}\right]$. It now follows from Lemma 5 that

$$
\lambda^{*}=\frac{\ln B}{\sigma-\tau} \notin \bigcup_{v \in V} \Lambda(v) .
$$

Next let $\lambda_{0}=q / p$ and set $\mu=m /\left(e^{\lambda^{*} \sigma}-p e^{\lambda^{*} \tau}-1\right)$. We will prove by induction that if

$$
\lambda_{n}=\lambda_{n-1}+\mu, \quad n=1,2, \ldots,
$$

and if
(29) $\quad w_{n}(t)= \begin{cases}w(t), & n=0 \\ -\left[w_{n-1}(t)+p w_{n-1}(t-\tau)\right]+\lambda_{n-1} \int_{t-\sigma}^{\infty} w_{n-1}(s) d s, & n=1,2, \ldots\end{cases}$
then $w_{n} \in V$ and $\lambda_{n} \in \Lambda\left(w_{n}\right)$. As $\Lambda\left(w_{n}\right)$ is bounded from above, this will be a contradiction and will complete the proof in this case.

Clearly $w_{n} \in V$ for $n=1,2, \ldots$. Next, assume that $\lambda_{n} \in \Lambda\left(w_{n}\right)$. We will show that $\lambda_{n+1} \in \Lambda\left(w_{n+1}\right)$. We first derive an inequality which we will utilize to prove the above.

Since $\lambda_{n} \in \Lambda\left(w_{n}\right)$

$$
\begin{equation*}
\dot{w}_{n}(t)+\lambda_{n} w_{n}(t) \leq 0 \tag{30}
\end{equation*}
$$

Integrating (30) from $t$ to $\infty$ yields

$$
-w_{n}(t)+\lambda_{n} \int_{t}^{\infty} w_{n}(s) d s \leq 0
$$

Using the above inequality in (29) gives

$$
\begin{equation*}
w_{n+1}(t) \leq-p w_{n}(t-\tau)+\lambda_{n} \int_{t-\sigma}^{t} w_{n}(s) d s \tag{31}
\end{equation*}
$$

Now let $\varphi_{n}(t)=e^{\lambda_{n} t} w_{n}(t)$ and observe, using (31), that

$$
\begin{aligned}
& \dot{w}_{n+1}(t)+\left(\lambda_{n}+\mu\right) w_{n+1}(t) \\
& \leq q w_{n}(t-\sigma)-\lambda_{n} w_{n}(t-\sigma)+\left(\lambda_{n}+\mu\right)\left[-p w_{n}(t-\tau)+\lambda_{n} \int_{t-\sigma}^{t} w_{n}(s) d s\right] \\
&= q e^{-\lambda_{n}(t-\sigma)} \varphi_{n}(t-\sigma)-\lambda_{n} e^{-\lambda_{n}(t-\sigma)} \varphi_{n}(t-\sigma)+\left(\lambda_{n}+\mu\right)\left(-p e^{-\lambda_{n}(t-\tau)} \varphi_{n}(t-\tau)\right) \\
&+\lambda_{n}\left(\lambda_{n}+\mu\right) \int_{t-\sigma}^{t} e^{-\lambda_{n} s} \varphi_{n}(s) d s \\
& \leq \varphi_{n}(t-\sigma) e^{-\lambda_{n} t}\left[q e^{\lambda_{n} \sigma}-\lambda_{n} e^{\lambda_{n} \sigma}-\lambda_{n} p e^{\lambda_{n} \tau}-\lambda_{n}+\lambda_{n} e^{\lambda_{n} \sigma}+\mu\left(e^{\lambda^{*} \sigma}-p e^{\lambda^{*} \tau}-1\right)\right] \\
& \leq \varphi_{n}(t-\sigma) e^{-\lambda_{n} t}[-m+m]=0
\end{aligned}
$$

The proof is complete.

## 3. Proof of Theorem 2

Proof. (a) $\Rightarrow$ (b). Clearly, if there is a root in $(0, \infty)$ then an unbounded nonoscillatory solution exists. Also, $\lambda=0$ cannot be a double root, for if 0 were a double root then $q=0$ and $p=-1$ which would reduce Eq. (1) to

$$
\frac{d}{d t}[y(t)-y(t-\tau)]=0
$$

which has the unbounded nonoscillatory solution $y(t)=t$.
$(b) \Rightarrow(a)$. Assume, for the sake of contradiction, that Eq. (1) has an unbounded eventually positive solution $y(t)$.

First assume $p=0$. Then clearly $q$ must be negative, for otherwise $y(t)$ would be bounded. Also $\sigma \neq 0$, for otherwise the characteristic equation would have a positive root. Hence, there remain the following cases to consider.
(i) $q<0$ and $\sigma>0$
(ii) $q<0$ and $\sigma<0$.

Case (i): $q<0$ and $\sigma>0$. We have $F(0) \cdot F(\infty)<0$ which implies that the characteristic equation has a positive root.

Case (ii): $q<0$ and $\sigma<0$. Set

$$
\Lambda=\{\lambda \geq 0:-\dot{y}(t)+\lambda y(t) \leq 0\} .
$$

As in Theorem 1, we will show that $\Lambda$ has the contradictory properties $\left(\mathrm{P}_{1}\right)$ and ( $\mathrm{P}_{2}$ ).

From (5) we have $-\dot{y}(t)+(-q) y(t) \leq 0$ which yields $\lambda_{1}=-q \in \Lambda$. From Lemmas 1 and 5 it follows that

$$
\lambda_{2}=\frac{1}{-\sigma} \ln \frac{4}{(\sigma q)^{2}} \notin \Lambda .
$$

Let $\lambda \in \Lambda$ and set $\varphi(t)=e^{-\lambda t} y(t)$. Observe that

$$
\dot{\varphi}(t)=-e^{-\lambda t}[-\dot{y}(t)+\lambda y(t)] \geq 0
$$

which shows that $\varphi(t)$ is increasing.
Now

$$
\begin{aligned}
-\dot{y}(t)+(\lambda+m) y(t) & =q y(t-\sigma)+(\lambda+m) y(t) \\
& =q \varphi(t-\sigma) e^{\lambda(t-\sigma)}+(\lambda+m) e^{\lambda t} \varphi(t) \\
& \leq \varphi(t) e^{\lambda t}\left[q e^{-\lambda \sigma}+\lambda+m\right] \\
& \leq \varphi(t) e^{\lambda t}[-m+m]=0
\end{aligned}
$$

which completes the proof when $p=0$.
The case when $\tau=0$ and $p \neq-1$ follows in a manner analogous to the case when $p=0$. On the other hand the case $\tau=0$ and $p=-1$ is trivial. So we will assume $p \tau \neq 0$.

When $q=0$, Eq. (1) reduces to

$$
\frac{d}{d t}[y(t)+p y(t-\tau)]=0
$$

which implies $y(t)+p y(t-\tau)=c$. Clearly, $y(t)$ cannot be positive and unbounded if $p>0$. Also, (2) reduces to

$$
F(\lambda)=\lambda\left(1+p e^{-\lambda \tau}\right)=0
$$

and it follows that $p>-1$ when $\tau>0$, for otherwise (2) has a positive root or 0 is a double root of (2). Furthermore, because of the Duality Lemma, we need only consider $-1<p<0$ and $\tau>0$ to complete the proof when $q=0$. To this end, let $\left\{t_{n}\right\}$ be a sequence of points such that $\lim _{n \rightarrow \infty} t_{n}=\infty, y\left(t_{n}\right)=$ $\max _{s \leq t_{n}} y(s)$ and $\lim _{n \rightarrow \infty} y\left(t_{n}\right)=\infty$. Observe that

$$
c=y\left(t_{n}\right)+p y\left(t_{n}-\tau\right) \geq(1+p) y\left(t_{n}\right) \rightarrow \infty \quad \text { as } \quad n \rightarrow \infty
$$

which is impossible.
Finally, by utilizing the Duality Lemma, one can see that the following cases remain to complete the proof of the theorem.

|  | $p$ | $q$ | $\tau$ | $\sigma$ |
| :--- | :--- | :--- | :--- | :--- |
| 1. | + | + | + | ,+ 0 |
| 2. | + | + | + | - |
| 3. | + | - | + | ,+ 0 |
| 4. | + | - | + | - |
| 5. | - | + | + | ,+ 0 |
| 6. | - | + | + | - |
| 7. | - | - | + | ,+ 0 |
| 8. | - | - | + | - |
|  |  |  |  |  |

In the sequel $z(t)$ and $w(t)$ denote the functions defined in Lemma 4.
Cases 1 and 2: $p>0, q>0, \tau>0, \sigma \geq 0$ or $p>0, q>0, \tau>0, \sigma<0$. Here

$$
\dot{z}(t)=-q y(t-\sigma)<0 .
$$

Hence $\lim _{t \rightarrow \infty} z(t)$ exists, which contradicts the assumption that $y(t)$ is unbounded.

Cases 3 and 7: $p>0, q<0, \tau>0, \sigma \geq 0$ or $p<0, q<0, \tau>0, \sigma \geq 0$. We have $F(0) \cdot F(\infty)<0$ which implies that the characteristic equation has a positive root.

Case 4: $\quad p>0, q<0, \tau>0$ and $\sigma<0$. The dual of Case 4 is

$$
p>0, \quad q<0, \quad \tau<0 \quad \text { and } \quad \sigma<0 \quad(\sigma<\tau)
$$

which we will now consider. Set

$$
w_{n}(t)= \begin{cases}w(t), & n=0 \\ w_{n-1}(t)+p w_{n-1}(t-\tau), & n=1,2, \ldots\end{cases}
$$

and

$$
\Lambda_{n}=\left\{\lambda \geq 0:-\dot{w}_{n}(t)+\lambda w_{n}(t) \leq 0\right\} .
$$

It follows that for $n=1,2, \ldots$

$$
\begin{gathered}
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0, \\
\dot{w}_{n}(t)=-q w_{n-1}(t-\sigma)
\end{gathered}
$$

and

$$
w_{n}(t)>0, \quad \dot{w}_{n}(t)>0 \quad \text { and } \quad \ddot{w}_{n}(t)>0 .
$$

From the above we have

$$
\dot{w}_{n}(t-\tau)+\frac{q}{1+p} w_{n}(t-\sigma) \geq 0
$$

which implies

$$
\begin{equation*}
\dot{w}_{n}(t)+\frac{q}{1+p} w_{n}(t+(\tau-\sigma)) \geq 0 \tag{32}
\end{equation*}
$$

and so

$$
\begin{equation*}
-\dot{w}_{n}(t)+\frac{-q}{1+p} w_{n}(t) \leq 0 \tag{33}
\end{equation*}
$$

Applying Lemmas 1 and 5 to (32) yields

$$
\lambda_{2}=\frac{1}{\tau-\sigma} \ln \frac{4(1+p)^{2}}{q^{2}(\tau-\sigma)^{2}} \notin \bigcap_{n=1}^{\infty} \Lambda_{n}
$$

while (33) yields

$$
\lambda_{1}=\frac{-q}{1+p} \in \bigcup_{n=1}^{\infty} \Lambda_{n}
$$

Let $\lambda \in \Lambda_{n}$ and set $\varphi_{n}(t)=e^{-\lambda t} w_{n}(t)$ and $\mu=m /\left(1+p e^{-\lambda_{2} \tau}\right)$. Now

$$
\begin{aligned}
- & \dot{w}_{n+1}(t)+(\lambda+\mu) w_{n+1}(t) \\
& =q w_{n}(t-\sigma)+(\lambda+\mu)\left[w_{n}(t)+p w_{n}(t-\tau)\right] \\
& =q \varphi_{n}(t-\sigma) e^{\lambda(t-\sigma)}+(\lambda+\mu)\left[e^{\lambda t} \varphi_{n}(t)+p e^{\lambda(t-\tau)} \varphi_{n}(t-\tau)\right] \\
& \leq \varphi_{n}(t-\sigma) e^{\lambda t}\left[q e^{-\lambda \sigma}+\lambda+\lambda p e^{-\lambda \tau}+\mu+\mu p e^{-\lambda_{2} \tau}\right] \\
& \leq \varphi_{n}(t-\sigma) e^{\lambda t}[-m+m]=0
\end{aligned}
$$

which completes the proof in this case.
Case 5: $\quad p<0, q>0, \tau>0$ and $\sigma \geq 0$. First assume that $\sigma<\tau$. Set

$$
w_{n}(t)= \begin{cases}w(t), & n=0 \\ -\left[w_{n-1}(t)+p w_{n-1}(t-\tau)\right], & n=1,2, \ldots\end{cases}
$$

and

$$
\Lambda_{n}=\left\{\lambda \geq 0:-\dot{w}_{n}(t)+\lambda w_{n}(t) \leq 0\right\} .
$$

It follows that for $n=1,2, \ldots$

$$
\begin{gather*}
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0, \\
\dot{w}_{n}(t)=q w_{n-1}(t-\sigma) \tag{34}
\end{gather*}
$$

and

$$
w_{n}(t)>0, \quad \dot{w}_{n}(t)>0 \quad \text { and } \quad \ddot{w}_{n}(t)>0 .
$$

From (34) we have

$$
\dot{w}_{n}(t-\tau)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma) \leq 0
$$

and from [1] it follows that $p<-1$. Combining these results gives

$$
\dot{w}_{n}(t)-\frac{q}{-(1+p)} w_{n}(t+(\tau-\sigma)) \geq 0
$$

and

$$
-\dot{w}_{n}(t)+\frac{q}{-(1+p)} w_{n}(t) \leq 0 .
$$

It now follows that

$$
\lambda_{1}=\frac{q}{-(1+p)} \in \bigcap_{n=1}^{\infty} \Lambda_{n}
$$

and

$$
\lambda_{2}=\frac{1}{\tau-\sigma} \ln \frac{4(1+p)^{2}}{q^{2}(\tau-\sigma)^{2}} \notin \bigcup_{n=1}^{\infty} \Lambda_{n} .
$$

Let $\lambda \in \Lambda_{n}$ and set $\varphi_{n}(t)=e^{-\lambda t} w_{n}(t)$ and $\mu=m /(-p)$. Now

$$
\begin{aligned}
-\dot{w}_{n+1}(t)+(\lambda+\mu) w_{n+1}(t) & =-q w_{n}(t-\sigma)+(\lambda+\mu)\left[-w_{n}(t)-p w_{n}(t-\tau)\right] \\
& \leq \varphi_{n}(t-\sigma) e^{\lambda t}\left[-q e^{-\lambda \sigma}-\lambda-\lambda p e^{-\lambda \tau}-\mu-\mu p e^{-\lambda t}\right] \\
& \leq \varphi_{n}(t-\sigma) e^{\lambda t}[-m+m]=0 .
\end{aligned}
$$

This completes the proof in Case 5 for $\sigma<\tau$.
For $\sigma \geq \tau$, set
(35) $\quad w_{n}(t)= \begin{cases}w(t), & n=0 \\ -\left[w_{n-1}(t)+p w_{n-1}(t-\tau)\right]+q \int_{t-\sigma}^{t-\tau} w_{n-1}(s) d s, & n=1,2, \ldots\end{cases}$
and observe that

$$
\begin{equation*}
\dot{w}_{n+1}(t)=q w_{n}(t-\tau)>0 . \tag{36}
\end{equation*}
$$

From (35) we obtain

$$
w_{n+1}(t)<[-p+q(\sigma-\tau)] w_{n}(t-\tau) .
$$

This together with (36) gives

$$
-\dot{w}_{n+1}(t)+\frac{q}{[-p+q(\sigma-\tau)]} w_{n+1}(t) \leq 0
$$

which implies

$$
\lambda_{1}=\frac{q}{-p+q(\sigma-\tau)} \in \bigcap_{n=1}^{\infty} \Lambda_{n} .
$$

Now

$$
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0
$$

implies

$$
\begin{equation*}
\dot{w}_{n}(t)+p w_{n}(t-\tau) \leq 0 . \tag{37}
\end{equation*}
$$

Combining (36) and (37) gives

$$
\begin{equation*}
q w_{n-1}(t-\tau)+p \dot{w}_{n}(t-\tau) \leq 0 . \tag{38}
\end{equation*}
$$

Integrating (38) from $t$ to $t+\tau$ we obtain

$$
q \tau w_{n-1}(t-\tau)+p w_{n}(t)-p w_{n}(t-\tau) \leq 0 .
$$

The above implies

$$
\begin{equation*}
q w_{n-1}(t-\tau)<-\left(\frac{p}{\tau}\right) w_{n}(t)>0 \tag{39}
\end{equation*}
$$

From (36) and (39) we now obtain

$$
-\dot{w}_{n}(t)+\left(-\frac{p}{\tau}\right) w_{n}(t)>0
$$

which implies

$$
\lambda_{2}=-\frac{p}{\tau} \notin \bigcup_{n=1}^{\infty} \Lambda_{n}
$$

Let $\lambda \geq \lambda_{1}$ and set $\varphi_{n}(t)=e^{-\lambda t} w_{n}(t)$ and $\mu=m\left[-p+\left(q / \lambda_{1}\right)\right]^{-1}$. Observe that

$$
\begin{aligned}
- & \dot{w}_{n+1}(t)+(\lambda+\mu) w_{n+1}(t) \\
= & -q w_{n}(t-\tau)+(\lambda+\mu)\left[-w_{n}(t)-p w_{n}(t-\tau)+q \int_{t-\sigma}^{t-\tau} w_{n}(s) d s\right] \\
\leq & -q \varphi_{n}(t-\tau) e^{\lambda(t-\tau)}+(\lambda+\mu)\left[-\varphi_{n}(t) e^{\lambda t}-p \varphi_{n}(t-\tau) e^{\lambda(t-\tau)}\right. \\
& \left.+q \int_{t-\sigma}^{t-\tau} e^{\lambda s} \varphi_{n}(s) d s\right] \\
\leq & \varphi_{n}(t-\tau) e^{\lambda t}\left[-q e^{-\lambda \tau}-\lambda-\lambda p e^{-\lambda \tau}-\mu-\mu p e^{-\lambda \tau}+q e^{-\lambda \tau}-q e^{-\lambda \sigma}\right. \\
& \left.+\frac{\mu q}{\lambda}\left(e^{-\lambda \tau}-e^{-\lambda \sigma}\right)\right] \\
\leq & \varphi_{n}(t-\tau) e^{\lambda t}\left[-\lambda-\lambda p e^{-\lambda \tau}-q e^{-\lambda \sigma}-\mu-\mu p e^{-\lambda \tau}+\frac{\mu q}{\lambda}\left(e^{-\lambda \tau}-e^{-\lambda \sigma}\right)\right] \\
\leq & \varphi_{n}(t-\tau) e^{\lambda t}[-m+m]=0 .
\end{aligned}
$$

The proof is complete in this case.
Case 6: $\quad p<0, q>0, \tau>0$ and $\sigma<0$. Set
(40) $\quad w_{n}(t)= \begin{cases}w(t), & n=0 \\ -\left[w_{n-1}(t)+p w_{n-1}(t-\tau)\right]-q \int_{t-\tau}^{t-\sigma} w_{n-1}(s) d s, & n=1,2, \ldots\end{cases}$
and define $\Lambda_{n}$ as in Case 5 .
Now for $n=1,2, \ldots$

$$
\begin{equation*}
\dot{w}_{n}(t)+p \dot{w}_{n}(t-\tau)+q w_{n}(t-\sigma)=0 \tag{41}
\end{equation*}
$$

and

$$
\begin{equation*}
\dot{w}_{n+1}(t)=q w_{n}(t-\tau)>0 . \tag{42}
\end{equation*}
$$

Again it follows from [4] that $p<-1$. This together with (41) yields

$$
\dot{w}_{n}(t)-\frac{q}{-(1+p)} w_{n}(t+(-\sigma)) \geq 0
$$

and

$$
-\dot{w}_{n}(t)+\frac{q}{-(1+p)} w_{n}(t) \leq 0 .
$$

We now have

$$
\lambda_{1}=\frac{q}{-(1+p)} \in \bigcap_{n=1}^{\infty} \Lambda_{n}
$$

and

$$
\lambda_{2}=\frac{1}{-\sigma} \ln \frac{4(1+p)^{2}}{(q \sigma)^{2}} \notin \bigcup_{n=1}^{\infty} \Lambda_{n} .
$$

To complete the proof in this case repeat exactly the same argument as in Case 5 when $\sigma \geq \tau$.

Case 8: $p<0, q<0, \tau>0$ and $\sigma<0$. The proof will follow a format similar to that of Case 7 in Theorem 1.

Let $V$ be the set of all $C^{2}$ solutions of Eq. (1) which satisfy

$$
v(t)>0, \quad \dot{v}(t)>0, \quad \ddot{v}(t)>0 \quad \text { and } \quad \lim _{t \rightarrow \infty} v(t)=\infty
$$

Set

$$
\Lambda(v)=\{\lambda \geq 0:-\dot{v}(t)+\lambda v(t) \leq 0\} .
$$

Observe that

$$
\begin{equation*}
\dot{v}(t)+p \dot{v}(t-\tau)+q v(t-\sigma)=0 \tag{43}
\end{equation*}
$$

From (43) we obtain

$$
\begin{equation*}
\dot{v}(t)-(-q) v(t+(-\sigma)) \geq 0 \tag{44}
\end{equation*}
$$

and so

$$
\begin{equation*}
-\dot{v}(t)+(-q) v(t) \leq 0 . \tag{45}
\end{equation*}
$$

From (44) and (45) we obtain

$$
-q \in \Lambda(v)
$$

and

$$
\lambda^{*}=\frac{1}{-\sigma} \ln \frac{4}{(q \sigma)^{2}} \notin \Lambda(v) .
$$

Now, let $\lambda_{0}=-q$ and set $\mu=m /\left(1-p e^{-\lambda^{*} \sigma}\right)$. We will prove by induction that if

$$
\lambda_{n}=\lambda_{n-1}+\mu, \quad n=1,2, \ldots
$$

and if

$$
w_{n}(t)= \begin{cases}w(t), & n=0 \\ w_{n-1}(t)+p w_{n-1}(t)-\lambda_{n-1} p \int_{t-\tau}^{t-\sigma} w_{n-1}(s) d s, & n=1,2, \ldots\end{cases}
$$

then $w_{n} \in V$ and $\lambda_{n} \in \Lambda\left(w_{n}\right)$. As $\Lambda\left(w_{n}\right)$ is bounded from above, this will be a contradiction and will complete the proof in this case. To this end, set $\varphi_{n}(t)=$ $e^{-\lambda_{n} t} w_{n}(t)$ and observe that

$$
\begin{aligned}
& -\dot{w}_{n+1}(t)+\left(\lambda_{n}+\mu\right) w_{n+1}(t) \\
& = \\
& \quad q w_{n}(t-\sigma)+\lambda_{n} p\left[w_{n}(t-\sigma)-w_{n}(t-\tau)\right] \\
& \quad+\left(\lambda_{n}+\mu\right)\left[w_{n}(t)+p w_{n}(t-\tau)-\lambda_{n} p \int_{t-\tau}^{t-\sigma} w_{n}(s) d s\right] \\
& \leq \\
& \quad q w_{n}(t-\sigma)+\lambda_{n} p w_{n}(t-\sigma)+\lambda_{n} w_{n}(t)-\lambda_{n}^{2} p \int_{t-\tau}^{t-\sigma} w_{n}(s) d s \\
& \quad+\mu\left[w_{n}(t)-\lambda_{n} p \int_{t-\tau}^{t-\sigma} w_{n}(s) d s\right] \\
& \leq \\
& \leq
\end{aligned} \varphi_{n}(t-\sigma) e^{\lambda_{n} t}\left[q e^{-\lambda_{n} \sigma}+\lambda_{n}+\lambda_{n} p e^{-\lambda_{n} \tau}+\mu\left(1-p e^{-\lambda^{*} \sigma}\right)\right] .
$$

The proof of Theorem 2 is complete.
Remark 2. In several instances, in the proofs of Theorems 1 and 2, we found points

$$
\lambda_{1} \in \bigcap_{n=1}^{\infty} \Lambda_{n} \quad \text { and } \quad \lambda_{2} \notin \bigcup_{n=1}^{\infty} \Lambda_{n} .
$$

The values of $\lambda_{1}$ and $\lambda_{2}$ were expressed in terms of the coefficients, delays and advances of Eq. (1). Clearly when they are such that

$$
\lambda_{1} \geq \lambda_{2}
$$

this is a contradiction. Utilizing this idea we can obtain "easily verifiable" sufficient conditions for the oscillation of all bounded and all unbounded solutions of Eq. (1).

Note. The authors wish to thank the referee for some useful suggestions.

## References

[1] M. K. Grammatikopoulos, E. A. Grove, and G. Ladas, Oscillation and asymptotic behavior of neutral differential equations with deviating arguments, Applicable Analysis, 22 (1986), 1-19.
[2] M. K. Grammatikopoulos, Y. G. Sficas and I. P. Stavroulakis, Necessary and sufficient conditions for oscillations of neutral equations with several coefficients, Technical Report No. 139, Dept. of Math., University of Ioannina, June 1987.
[3] E. A. Grove, G. Ladas and A. Meimaridou, A necessary and sufficient condition for the oscillation of neutral equations, J. Math. Anal. Appl., 126 (1987), 341-354.
[4] M. R. S. Kulenovic, G. Ladas and A. Meimaridou, Necessary and sufficient conditions for the oscillations of neutral differential equations, J. Austral. Math. Soc., Series B 28 (1987), 362-375.
[5] G. Ladas, Y. G. Sficas and I. P. Stavroulakis, Necessary and sufficient conditions for oscillation, Amer. Math. Monthly, 90 (1983), 637-640.

Department of Mathematics,
University of Rhode Island
(Kingston, RI02881, U.S.A.)
and
Department of Mathematics,
Providence College
(Providence, RI02918, U.S.A.)

